

A POLYNOMIAL RING THAT IS JACOBSON RADICAL AND NOT NIL

BY

AGATA SMOKTUNOWICZ*

*Institute of Mathematics, Polish Academy of Sciences
Śniadeckich 8, P.O. Box 137, 00-950 Warsaw, Poland
e-mail: agasmok@impan.gov.pl*

AND

E. R. PUCZYŁOWSKI**

*Institute of Mathematics, University of Warsaw
Banacha 2, 02-097 Warsaw, Poland
e-mail: edmundp@mimuw.edu.pl*

ABSTRACT

In [1] Amitsur conjectured that if a polynomial ring in one indeterminate is Jacobson radical then it is a nil ring. We shall construct an example disproving this conjecture.

0. Introduction

In [1] Amitsur proved that for every ring R the Jacobson radical $J(R[X])$ of the polynomial ring $R[X]$ in an indeterminate X over R is equal to $N[X]$ for a nil ideal N of R . He proved that if R is an algebra over an uncountable field, then $J(R[X])$ coincides with the upper nil radical of $R[X]$ (cf. also [2,8]) and conjectured (see also [3]) that this is true for all R . This conjecture is connected with Koethe's problem [6, 13] and some other problems of ring theory [4, 5, 10, 11, 12, 15]. We shall show that the conjecture does not hold. We construct an

* Supported by Foundation for Polish Science and KBN Grant 2 P03A 057 15.

** Supported by KBN Grant 2 P03A 039 14.

Received March 20, 2000

algebra over a countable field, the polynomial algebra in one indeterminate over which it is Jacobson radical but not a nil ring. In our proofs we shall use the main results of [14] (some of them are recalled in Section 1 and some others are extended in Section 3 to the form needed by us). We shall also apply Krempa's well known result [7] (cf. also [9,3]) which states that the ring $R[X]$ is Jacobson radical if and only if the rings $\mathcal{M}_n(R)$ of $n \times n$ matrices over R are nil for all n .

For a ring R , $R[X]$ will denote the ring of polynomials in an indeterminate X over R and $R[X, Y]$ the ring of polynomials in commuting indeterminates X, Y over R .

1. Throughout the paper K is a field and A is the algebra of polynomials in non-commuting indeterminates x, y, z over K . We denote by M the set of monomials in x, y, z and for each integer $n \geq 0$ M_n denotes the set of monomials of degree n . Thus $M_0 = \{1\}$ and for $n \geq 1$ the elements in M_n are of the form $x_1 \cdots x_n$, where $x_i \in \{x, y, z\}$. The K -subspace of A spanned by M_n will be denoted by H_n . Obviously $A = \bigoplus_{n=0}^{\infty} H_n$ and $H_n H_m = H_{n+m}$. Thus A is strongly graded in this way by the additive semigroup of non-negative integers.

Given $w \in M$ we denote by $d_x w$, $d_y w$ and $d_z w$ the x -degree, y -degree and z -degree of w , respectively. Obviously the degree of w , which we denote by dw , is equal to $d_x w + d_y w + d_z w$.

Given integers n_1, n_2, n_3 define

$$w(n_1, n_2, n_3) = \sum \{w \in M : d_x w = n_1, d_y w = n_2, d_z w = n_3\}$$

if all $n_i \geq 0$ and $w(n_1, n_2, n_3) = 0$ otherwise.

LEMMA 1.1 ([14], Lemma 7b): *For arbitrary integers p_1, p_2, p_3 and $n \leq p_1 + p_2 + p_3$, $w(p_1, p_2, p_3) = \sum \{w(n_1, n_2, n_3)w(p_1 - n_1, p_2 - n_2, p_3 - n_3) \mid n_1 + n_2 + n_3 = n\}$.*

Given a natural number n and a set $S \subseteq A$ let $B_n(S)$ denote the right ideal of A generated by the set $\bigcup_{k=0}^{\infty} M_{nk}S$, i.e., $B_n(S) = \sum_{k=0}^{\infty} M_{nk}SA$.

Let m_1, m_2, \dots be an increasing sequence of natural numbers such that each m_i divides m_{i+1} and let F_i be finite subsets of H_{m_i} and let $r_i = \text{card } F_i$. In [14], Section 2, mappings $R_i: H_{m_i} \rightarrow H_{m_i}$ were introduced and studied. They have in particular the following properties.

LEMMA 1.2: (i) ([14], Theorem 4) *For every natural number l ,*

$$R_{l+1}(H_{m_{l+1}} \cap \sum_{i=1}^l B_{m_{i+1}}(F_i)) = 0.$$

(ii) ([14], Theorem 11) If $m_1 > 10^8$ and for each $i > 0$, $m_{i+1} > m_i 2^{i+101}$ and $r_i = \text{card } F_i < m_i^2 40^{-2}$, then for every $i > 0$ there are integers n_1, n_2, n_3 such that $n_1 + n_2 + n_3 = m_i$ and $R_i(w(n_1, n_2, n_3)) \neq 0$.

Now we shall prove

THEOREM 1.3: Let m_i and F_i be as in Lemma 1.2(ii). For every $k \geq 1$ there are integers n_1, n_2, n_3 such that

$$n_1 + n_2 + n_3 = m_k \quad \text{and} \quad w(n_1, n_2, n_3) \notin \sum_{i=1}^{\infty} B_{m_{i+1}}(F_i).$$

Proof: By Lemma 1.2(ii) for every $k \geq 1$ there are integers p_1, p_2, p_3 such that $p_1 + p_2 + p_3 = m_{k+1}$ and $R_{k+1}(w(p_1, p_2, p_3)) \neq 0$.

Suppose now that for all $n_1 + n_2 + n_3 = m_k$, $w(n_1, n_2, n_3) \in \sum_{i=1}^{\infty} B_{m_{i+1}}(F_i)$. Obviously $w(n_1, n_2, n_3) \in H_{m_k}$ and, for every $i \geq k+1$, $H_{m_k} \cap B_{m_{i+1}}(F_i) = 0$. Hence since all $B_{m_{i+1}}(F_i)$ are homogeneous right ideals of A , $w(n_1, n_2, n_3) \in \sum_{i=1}^k B_{m_{i+1}}(F_i)$. By Lemma 1.1,

$$w(p_1, p_2, p_3) = \sum \{w(n_1, n_2, n_3)w(p_1 - n_1, p_2 - n_2, p_3 - n_3) \mid n_1 + n_2 + n_3 = m_k\},$$

so $w(p_1, p_2, p_3) \in \sum_{i=1}^k B_{m_{i+1}}(F_i)$. Hence by Lemma 1.2(i), $R_{k+1}(w(p_1, p_2, p_3)) = 0$, a contradiction. ■

2. Let B be the algebra of polynomials in non-commuting indeterminates a, b, c over K and for each integer $n \geq 0$ let B_n be the K -subspace of B generated by all monomials w in a, b, c such that $d_a w + d_b w = n$, where for given $t \in \{a, b, c\}$ and a monomial w , $d_t w$ denotes the t -degree of w . Obviously $B = \bigoplus_{n=0}^{\infty} B_n$ and $B_n B_m = B_{n+m}$. Thus B is strongly graded in this way by the additive semigroup of non-negative integers. Note that the ideal $\langle ac, c^2 \rangle$ of B generated by ac and c^2 is homogeneous with respect to this grading. Thus $T = B/\langle ac, c^2 \rangle$ is a K -algebra strongly graded by the additive semigroup of non-negative integers with the homogeneous subspaces $T_n = B_n + \langle ac, c^2 \rangle / \langle ac, c^2 \rangle$.

Given non-negative integers n_1, n_2, n_3 denote by $\bar{w}(n_1, n_2, n_3)$ the image in T of the polynomial

$$\sum \{m \mid m \text{ monomial in } a, b, c \text{ such that } d_a m = n_1, d_b m = n_2, d_c m = n_3\}.$$

If at least one of n_1, n_2, n_3 is negative, we put $\bar{w}(n_1, n_2, n_3) = 0$.

In what follows, with a slight abuse of notation, we denote the images of a, b, c in T again by a, b, c . Then T is a K -algebra generated by $1, a, b, c$ satisfying relations $ac = 0, c^2 = 0$.

Note that there is an embedding of the algebra A into T such that $\phi(x) = a$, $\phi(y) = b$ and $\phi(z) = bc$. This allows us to assume that $A \subseteq T$ and $x = a$, $y = b$ and $z = bc$.

One easily checks the following

LEMMA 2.1: *The subalgebra \bar{A} of T generated by x, y, z (i.e., the subalgebra of A consisting of polynomials in x, y, z with zero constant terms) is a right ideal of T and $T = A + cA$. Moreover, for each n , $H_n c \subseteq H_n$.*

Observe that if $w = w_1 \cdot \dots \cdot w_m \neq 0$, where $w_i \in \{a, b, c\}$ and for some $2 \leq i \leq m$, $w_i = c$, then $w_{i-1} = b$. Applying this observation one easily gets

LEMMA 2.2: (a) *For every non-negative integer n , $T_n = H_n + cH_n$.*

(b) *Given integers n_1, n_2, n_3 ,*

$$\bar{w}(n_1, n_2 + n_3, n_3) = w(n_1, n_2, n_3) + cw(n_1, n_2 + 1, n_3 - 1).$$

We also shall need

LEMMA 2.3: (a) *If $h, h', g, g' \in A$ and $h + ch' = g + cg'$, then $h = g$ and $h' = g'$.*

(b) *If P is a right ideal of T contained in A and homogeneous in A , then $P + cP$ is a homogeneous right ideal of T .*

Now we shall prove

THEOREM 2.4: *Let $P \subseteq A$ be a right ideal of T which is homogeneous in A . If $(aX^2 + bX + c)^n \in (P + cP)[X]$, then $(x + yX + zY)^n \in P[X, Y]$.*

Proof: The coefficients of $(x + yX + zY)^n$ are $w(n_1, n_2, n_3)$, where n_i are non-negative integers such that $n_1 + n_2 + n_3 = n$. We have to show that all of them are in P . Clearly $m = n_1 + n_2 + 2n_3 \geq n$. Hence, since $P + cP$ is a right ideal of T , $(aX^2 + bX + c)^m \in (P + cP)[X]$. Given $0 \leq s \leq 2m$, the coefficient c_s at X^s in the polynomial $(aX^2 + bX + c)^m$ is equal to

$$\sum_{2m_1+m_2=s, m_1+m_2+m_3=m} \bar{w}(m_1, m_2, m_3)$$

and it belongs to $P + cP$. Clearly $\bar{w}(m_1, m_2, m_3) \in T_{m_1+m_2}$. Given $0 \leq t \leq m$, $t = m_1 + m_2$ if and only if $m_3 = m - t$, $m_1 = s - t$ and $m_2 = s - 2(s - t) = 2t - s$. Consequently the t -component of c_s with respect to the gradation of T is equal to $\bar{w}(s - t, 2t - s, m - t)$ and, by Lemma 2.3(b), it belongs to $P + cP$. For $s = 2n_1 + n_2 + n_3$ and $t = n = n_1 + n_2 + n_3$, we have $\bar{w}(s - t, 2t - s, m - t) = \bar{w}(n_1, n_2 + n_3, n_3)$. By Lemma 2.2(b), $\bar{w}(n_1, n_2 + n_3, n_3) = w(n_1, n_2, n_3) + cw(n_1, n_2 + 1, n_3 - 1)$.

Now applying Lemma 2.3(a) one gets that $w(n_1, n_2, n_3) \in P$. The result follows. ■

3. We start this section with a lemma which slightly generalizes Lemma 1 of [14].

LEMMA 3.1: *Let G be a K -algebra strongly graded by the additive semigroup of non-negative integers with the homogeneous components G_i . For every $a = a_1 + a_2 + \cdots + a_t$, with $a_i \in G_i$, and each $n > t$ there is a set $G(a, n) \subseteq G_n$ such that $\text{card } G(a, n) < nt \sup_{1 \leq i \leq t} \dim_K G_i$ and $a^n = g_0 + g_1 a + \cdots + g_{n-2} a^{n-2}$ for some $g_0, \dots, g_{n-2} \in G(a, n)(G_0 + \cdots + G_{t-1})$.*

Proof: Given $1 \leq k \leq n-1$ and $n-t \leq l \leq n-1$ let $w_{k,l} = \sum_{i_1+\dots+i_k=l} a_{i_1} \cdots a_{i_k}$. The number of these $w_{k,l}$ is equal to $(n-1)t < nt$. Let

$$G(a, n) = \bigcup_{1 \leq k \leq n-1} \bigcup_{n-t \leq l \leq n-1} w_{k,l} E_{n-l},$$

where E_{n-l} is a fixed K -basis of G_{n-l} . Clearly $G(a, n) \subseteq G_n$ and $\text{card } G(a, n) < nt \sup_{1 \leq i \leq t} \dim_K G_i$.

Now $a^n = \sum_{1 \leq i_1, \dots, i_n \leq t} a_{i_1} \cdots a_{i_n}$. Take any $1 \leq i_1, \dots, i_n \leq t$. Since $i_1 < n$ and $i_1 + \cdots + i_n \geq n$, there exists $1 \leq k \leq n-1$ such that $i_1 + \cdots + i_k < n$ and $i_1 + \cdots + i_{k+1} \geq n$. Consequently

$$a^n = \sum_{k=1}^{n-1} \sum_{i_1+\dots+i_k < n \leq i_1+\dots+i_{k+1}} a_{i_1} \cdots a_{i_{k+1}} \sum_{1 \leq i_{k+2}, \dots, i_n \leq n} a_{i_{k+2}} \cdots a_{i_n}.$$

Note that for each $1 \leq k \leq n-1$ and fixed i_1, \dots, i_{k+1} with $i_1 + \cdots + i_k < n \leq i_1 + \cdots + i_{k+1}$, we have $\sum_{1 \leq i_{k+2}, \dots, i_n \leq t} a_{i_{k+2}} \cdots a_{i_n} = a^{n-k-1}$ (for $k = n-1$ the set of indices $1 \leq i_{k+2}, \dots, i_n \leq t$ is empty and $n-k-1 = 0$; in this case we put both the sum and a^0 equal to 1). Thus

$$a^n = \sum_{k=1}^{n-1} \left(\sum_{i_1+\dots+i_k < n \leq i_1+\dots+i_{k+1}} a_{i_1} \cdots a_{i_{k+1}} \right) a^{n-k-1}.$$

For fixed $1 \leq k \leq n-1$ we have

$$\begin{aligned} \sum_{i_1+\dots+i_k < n \leq i_1+\dots+i_{k+1}} a_{i_1} \cdots a_{i_{k+1}} &= \sum_{l=n-t}^{n-1} \left(\sum_{i_1+\dots+i_k=l} a_{i_1} \cdots a_{i_k} \right) (a_{n-l} + \cdots + a_t) \\ &= \sum_{l=n-t}^{n-1} w_{k,l} (a_{n-l} + \cdots + a_t). \end{aligned}$$

Since G is a strongly graded K -algebra,

$$a_{n-l} + \cdots + a_t \in E_{n-l}(G_0 + \cdots + G_{t-n+l}).$$

This implies that each $w_{k,l}(a_{n-l} + \cdots + a_t)$ is a linear combination over K of elements of $G(a, n)$ multiplied on the right by elements of

$$G_0 + G_1 + \cdots + G_{t-1}.$$

Hence indeed

$$a^n = g_0 + g_1 a + \cdots + g_{n-2} a^{n-2} \quad \text{for some } g_i \in G(a, n)(G_0 + \cdots + G_{t-1}). \quad \blacksquare$$

For a natural number j let $\mathcal{M}_j(T)$ denote the algebra of all $j \times j$ matrices over T . The algebra is strongly graded by the additive semigroup of non-negative integers with the homogeneous components $\mathcal{M}_j(T_n)$.

Given a subset $S \subseteq \mathcal{M}_j(T)$ we shall denote by $[S]$ the set of entries of elements in S .

LEMMA 3.2: *Suppose that $f = f_1 + \cdots + f_t$, where $f_i \in \mathcal{M}_j(T_i)$. For every natural number $n > t$ there exists a set $S(f, n) \subseteq H_n$ with $\text{card } S(f, n) < ntj^4 3^{t+3}$ satisfying $S(f, n)c \subseteq S(f, n)$ and such that for each $m > n$,*

$$[f^m] \subseteq (S(f, n) + cS(f, n))(T_0 + \cdots + T_{t-1})[f^{m-n}]T.$$

Proof: Clearly $\dim_K \mathcal{M}_j(T_i) = j^2 \dim_K T_i$. By Lemma 2.2(a), $T_n = H_n + cH_n$, so $\dim_K \mathcal{M}_j(T_i) \leq j^2 2 \dim_K H_i < j^2 3^{i+1}$. By Lemma 3.1 there is a set $G(f, n) \subseteq \mathcal{M}_j(T_n)$ with $\text{card } G(f, n) < ntj^2 3^{t+1}$ and such that $f^n = g_0 + g_1 f + \cdots + g_{n-2} f^{n-2}$ for some $g_0, \dots, g_{n-2} \in G(f, n)\mathcal{M}_j(T_0 + \cdots + T_{t-1})$, so $f^m = g_0 f^{m-n} + g_1 f^{m-n} f + \cdots + g_{n-2} f^{m-n} f^{n-2}$. Consequently f^m belongs to the right ideal of $\mathcal{M}_j(T)$ generated by $G(f, n)\mathcal{M}_j(T_0 + \cdots + T_{t-1})f^{m-n}$. Since $T_n = H_n + cH_n$ and $G(f, n) \subseteq \mathcal{M}_j(T_n)$, there exists a subset $\tilde{S}(f, n)$ of H_n such that $\text{card } \tilde{S}(f, n) < 2ntj^2 3^{t+1} j^2 < ntj^4 3^{t+2}$ and $G(f, n) \subseteq \mathcal{M}_j(\tilde{S}(f, n) + c\tilde{S}(f, n))$. Let $S(f, n) = \tilde{S}(f, n) \cup \tilde{S}(f, n)c$. Note that $G(f, n) \subseteq \mathcal{M}_j(S(f, n) + cS(f, n))$, so $[f^m] \subseteq (S(f, n) + cS(f, n))(T_0 + \cdots + T_{t-1})[f^{m-n}]T$. Clearly $\text{card } S(f, n) \leq 2 \text{card } \tilde{S}(f, n) < ntj^4 3^{t+3}$ and, by Lemma 2.1, $S(f, n) \subseteq H_n$. The result follows. \blacksquare

THEOREM 3.3: *Suppose that $f \in \mathcal{M}_j(T_1 + \cdots + T_t)$ and let r, w be natural numbers such that $2t < r < w$. Then there is a set $S \subseteq H_r$ with $\text{card } S < rj^4 3^{3t+3}$*

such that $B_w(S)$ is a right ideal of T and the ideal of T generated by $[f^{10w}]$ is contained in $B_w(S) + cB_w(S)$.

Proof: Let $S = \bigcup_{0 \leq i \leq t} M_i S(f, r-i)$, where $S(f, r-i)$ are defined as in Lemma 3.2. Clearly $Sc \subseteq S$, which easily implies that $B_w(S)$ is a right ideal of T . We have $\text{card } S < \sum_{i=0}^t 3^i(r-i)tj^4 3^{t+3} < r3^{2t+3}j^4 t(t+1)$. Now $3^{2t+3}t(t+1) < 3^{3t+3}$, so $\text{card } S < rj^4 3^{3t+3}$.

Note that for every natural number k , $T_{kw}(B_w(S) + cB_w(S)) \subseteq B_w(S) + cB_w(S)$. Hence, since $B_w(S)$ is a right ideal of T , to get that the ideal of T generated by $[f^{10w}]$ is contained in $B_w(S) + cB_w(S)$ it suffices to prove that $T_d[f^{10w}] \subseteq B_w(S) + cB_w(S)$ for $d < w$. Clearly $t < 2w - d < 10w$, so applying Lemma 3.2 for $n = 2w - d$ and $m = 10w$ we get that

$$T_d[f^{10w}] \subseteq T_d(S(f, 2w-d) + cS(f, 2w-d))(T_0 + \cdots + T_{t-1})[f^{8w+d}]T.$$

However, $T_d(S(f, 2w-d) + cS(f, 2w-d)) \subseteq T_{2w}$, so it suffices to show that for each $l < t$, $T_l[f^{8w+d}] \subseteq B_w(S) + cB_w(S)$. Clearly $t < r - l < 8w + d$, so applying Lemma 3.2 for $n = r - l$ and $m = 8w + d$ we get that

$$T_l[f^{8w+d}] \subseteq T_l(S(f, r-l) + cS(f, r-l))(T_0 + \cdots + T_{t-1})[f^{8w+d-r+l}]T.$$

From the definition of S and the fact that $H_{lc} \subseteq H_l$ it follows that $T_l(S(f, r-l) + cS(f, r-l)) \subseteq KS + cKS \subseteq B_w(S) + cB_w(S)$. Since $B_w(S)$ is a right ideal of T we get that $T_l[f^{8w+d}] \subseteq B_w(S) + cB_w(S)$. The result follows. ■

In what follows \bar{T} will denote the non-unital subalgebra of T generated by a, b, c and for every integer $n \geq 0$ we put $E_n = \bar{T} \cap (T_0 + \cdots + T_n)$.

Note that if $f \in \mathcal{M}_j(E_n)$, then $f^2 \in \mathcal{M}_j(T_1 + \cdots + T_{2n})$. Applying Theorem 3.3 and this observation one gets

COROLLARY 3.4: Suppose that for $i = 1, 2, \dots$, $f_i \in \mathcal{M}_{j_i}(E_{t_i})$ and m_i is an increasing sequence of natural numbers such that $4t_i < m_i$. Then there are $F_i \subseteq H_{m_i}$ with $\text{card } F_i < m_i j_i^4 3^{6t_i+3}$ such that the ideal of T generated by $\bigcup_{i=1}^{\infty} [f_i^{20m_{i+1}}]$ is contained in $\sum_{i=1}^{\infty} B_{m_{i+1}}(F_i) + c \sum_{i=1}^{\infty} B_{m_{i+1}}(F_i)$ and $\sum_{i=1}^{\infty} B_{m_{i+1}}(F_i)$ is a right ideal of T .

4. Now we are ready to prove the main result of the paper.

THEOREM 4.1: *If the field K is countable, then \bar{T} contains an ideal I such that the polynomial algebra $(\bar{T}/I)[X]$ is Jacobson radical but not nil.*

Proof: Let $\mathcal{M}(\bar{T})$ be the algebra of countable matrices over \bar{T} with a finite number of non-zero entries. Since K is countable, also $\mathcal{M}(\bar{T})$ is countable, i.e., $\mathcal{M}(\bar{T}) = \{f_1, f_2, \dots\}$. Each f_i can be regarded as an element of $\mathcal{M}_{j_i}(E_{t_i})$ for some natural numbers t_i and j_i . There are natural numbers m_1, m_2, \dots satisfying

- (i) $m_1 > 10^8$ and for each i , $m_{i+1} > m_i 2^{i+101}$,
- (ii) each m_i divides m_{i+1} ,
- (iii) $m_i > 40^2 3^{6t_i+3} j_i^4$.

Let I be the ideal of T generated by $\bigcup_{i=1}^{\infty} [f_i^{20m_{i+1}}]$. By Krempa's result ([7]) quoted in the introduction we get that $(\bar{T}/I)[X]$ is Jacobson radical. We shall show that it is not nil. Clearly $4t_i < m_i$, so applying Corollary 3.4 we get that there are $F_i \subseteq H_{m_i}$ with $\text{card } F_i < m_i 3^{6t_i+3} j_i^4$ such that $I \subseteq P + cP$, where $P = \sum_{i=1}^{\infty} B_{m_{i+1}}(F_i)$ and P is a right ideal of T . By (iii), $3^{6t_i+3} j_i^4 < m_i 40^{-2}$, so $\text{card } F_i < m_i^2 40^{-2}$. Hence from Theorem 1.3 we get that for every natural number k there are integers n_1, n_2, n_3 such that $n_1 + n_2 + n_3 = m_k$ and $w(n_1, n_2, n_3) \notin \sum_{i=1}^{\infty} B_{m_{i+1}}(F_i) = P$. This implies that for each k , $(x + yX + zY)^{m_k} \notin P[X, Y]$. Hence by Theorem 2.4, $(aX^2 + bX + c)^{m_k} \notin (P + cP)[X]$. However, $k \leq m_k$ and $I \subseteq P + cP$. Consequently, for every natural number k , $(aX^2 + bX + c)^k \notin I[X]$, so $(\bar{T}/I)[X]$ is not nil. ■

References

- [1] S. A. Amitsur, *Radicals of polynomials rings*, Canadian Journal of Mathematics **8** (1956), 355–361.
- [2] S. A. Amitsur, *Algebras over infinite fields*, Proceedings of the American Mathematical Society **7** (1956), 35–48.
- [3] S. A. Amitsur, *Nil radicals. Historical notes and some new results*, in *Rings, Modules and Radicals*, Colloquia Mathematica Societatis János Bolyai **6** (1971), 47–65.
- [4] E. S. Golod and I. R. Shafarevich, *On towers of class fields* (Russian), Izvestiya Akademii Nauk SSSR, Seriya Matematicheskaya **28** (1964), 261–272.
- [5] N. Jacobson, *Structure of Rings*, Vol. 37, American Mathematical Society Colloquium Publications, Providence, RI, 1964.
- [6] G. Köthe, *Die Struktur der Ringe, deren Restklassenring nach dem Radikal vollständig reduzibel ist*, Mathematische Zeitschrift **32** (1930), 161–186.

- [7] J. Krempa, *Logical connections among some open problems in non-commutative rings*, Fundamenta Mathematicae **76** (1972), 121–130.
- [8] J. Krempa, *Radicals of semi-group rings*, Fundamenta Mathematicae **85** (1974), 57–71.
- [9] J. Krempa, *On the Jacobson radical of polynomial rings*, Bulletin de l'Académie Polonaise des Sciences, Serie des Science. Mathématique, Astronomie et Physique **22** (1974), 887–890.
- [10] J. Krempa, *On Passman's problem concerning nilpotent free algebras*, Bulletin de l'Académie Polonaise des Sciences, Serie des Science. Mathématique, Astronomie et Physique **27** (1979), 645–648.
- [11] D. S. Passman, *Infinite Group Rings*, Marcel Dekker, New York, 1971.
- [12] L. H. Rowen, *Ring Theory*, Vol. I, Academic Press, New York, 1988.
- [13] L. H. Rowen, *Koethe's conjecture*, Israel Mathematical Conference Proceedings **1** (1989), 193–202.
- [14] A. Smoktunowicz, *Polynomial rings over nil rings need not be nil*, Journal of Algebra **233** (2000), 427–436.
- [15] E. Zelmanov, *Nil Rings and Periodic Groups*, Korean Mathematical Society, Seoul, Lecture Notes in Mathematics, 1992.